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)1. You deposit $1,000 in a retirement account today at 8.5 percent interest. How much
more money will you have if you leave the money invested for 40 years rather than 35
years?

A.$7,714.91

B. $7,799.08

C. $7,839.73

D. $7,846.52

E. $8,753.38

)2. Christie adds $2,000 to her savings account on the first day of each year. Todd adds
$2,000 to his savings account on the last day of each year. They both earn a 7 percent
rate of return. What is the difference in their savings account balances at the end of 25
years?

A. $8,854.86
B. $9,003.48
C. $9,126.39
D. $9,130.07
E. $9,041.14

)3. The Chelsey Group purchased a piece of property for $4.8 million. They paid a down
payment of 25 percent in cash and financed the balance. The loan terms require monthly
payments for 25 years at an annual percentage rate of 8.65 percent compounded
monthly. What is the amount of each mortgage payment?

A. $27,804.13
B. $27,989.62
C. $28,406.23
D. $29,142.91
E. $29,352.98

)4. Norwegian Adventures offers a 6.5 percent coupon bond with annual payments. The
yield to maturity is 6.71 percent and the maturity date is 7 years from today. What is the
market price of this bond if the face value is $1,000?7
A. $692.07
B. $811.63
C. $981.31
D. $988.57
E. $1,193.35

)5. Jessica's Pharmacy made two announcements concerning their common stock today.
First, the company announced the next annual dividend will be $1.48 a share. Secondly,
all dividends after that will increase by 2.5 percent annually. What is the maximum
amount you should pay to purchase a share of this stock if your goal is to earna 12
percent rate of return?

A.$12.33
B. $12.64
C.$13.27
D. $15.58
E. $15.97

)6. The common stock of Flo's Flowers pays an annual dividend that is expected to
increase by 3.6 percent per year. The stock commands a market rate of return of 11.6
percent and sells for $37.80 a share. What is the expected amount of the next
dividend?

A. $2.92
B. $3.02
C.$3.13 TE oL ERA
D. $3.26

E. $3.40




$-—F #=-%

)10. The stock of Markley Toys has a beta of 1.37. The risk-free rate of return is 3.90

()7. You are considering the following two mutually exclusive projects. The required rate (
percent and the market risk premium is 8.75 percent. What is the expected rate of return

of return is 10.75 percent for project A and 12 percent for project B. Which project

should you accept and why? on Markley Toys stock?

A. 10.59 percent
B. 12.72 percent

Year Project A Project B
0 -$36,000 -$69,900
1 21,600 52.600 C. 14.60 percent
2 18,200 46,100 D. 15.89 percent
3 22,100 0 E. 17.33 percent

A. project A; because it has the lower required rate of return

B. project A; because its NPV is about $796 more than the NPV of project B
C. project B; because it has the largest total cash inflow

D. project B; because it returns all its cash flows within two years

E. project B; because it is the largest sized project

( )8. You are considering two mutually exclusive projects with the following cash flows.
Which project(s) should you accept if the discount rate is 7 percent? What if the

discount rate is 10 percent?

Year Project A Project B
0 -$275,000 -$202,000
1 0 113,600
2 0 81,900
3 360,000 47.000

A. accept project A as it always has the higher NPV
B. accept project B as it always has the higher NPV
C. accept A at 7 percent and B at 10 percent

D. accept B at 7 percent and A at 10 percent

E. accept A at 7 percent and neither at 10 percent.

( )9. What is the expected return on a portfolio which is invested 30 percent in stock A, 40
percent in stock B, and 30 percent in stock C?

State of Probability of Retums if State Occurs
Economy State of Economy Stock A Stock B Stock C
Boom 10% 17% 10% 4%
Normal 75% 12% 8% 9%
Recession 15% -10 % 3% 15%

A. 8.56 percent
B. 8.62 percent
C. 8.76 percent
D. 8.79 percent
E. 8.82 percent




